2 left side frame

@ Generic Intalation rack cart 2/3 shelves

1.Lay the front door frame on the working table.

2.Fix both left and right side frames on front door frames by M4 self-tapping
SCrews.

3.Fix the rear door frame by M4 self-tapping screws.

4 rear door frame
Top with 1*"M10 welding nu\

fx

3.right side frame

{
The left and right side §\

frames are distinguished according ‘Q\ N
to the grounding.

1.front door frame \3‘-&_

Bottom with 2*M8 welding nut

1.Fix the top and bottom covers on the
frames by M4 self-tapping screws.

6.bottom cover—— -/

6 cabLemaTic

rear door frame
with cable entry

{.castor &l

1.Fix the 4 castors on ﬁm four sides of the
base by M8 tapping screws.




1.Insert the shelf with guiding rail
and clapboard into guiding rail bracket.

9.clapboard
10.shelf
8.guiding rail bracket
T.Install guiding rail bracketsinto oo _
cabinets by M5 self-tapping screws. = == e Ikn
1 1.remove the plastic cover of handle.
@ 1.Fix the PDP bracket on rear door frame by ® 2.Fix the handle on the top by M10 hexagon bolt.
M5 sell-tapping screws. 3.Cover the plastic cover.
2.Install the PDU to PDU brackets.
9.Power supply controlling PDU el
11.PDU bracket 1 latch
12.PDU bracket 2 |
14 left and right door
13.Charging PDU

1.Put rotating shafts on bottom holes of door frames.
2.Install the left and right door, fix the top by latches.

15.rotating shaft






	wm05100-0111encarames-1
	wm05100-0111encarames-2
	wm05100-0111encarames-3

